








[KZ 1006] Sub. Code : 1006

KAMIL - E - TIB - O - JARAHAT (B.U.M.S.)

DEGREE  EXAMINATION.

First Professional Course

Paper VI _ MANTIQ - O - FALSAFA AND HAIYAT

Q.P.Code : 621006

Time : Three hours        Maximum : 100 marks

I. Long Essay :                (2 < 15 = 30)

1. Write Morakabath - e - Thamah.  Explain its types.

%·]**)ÅX9÷CÙZq-Å,sX 1X

2. Define Qayas. Write down their examples and types.

ªkÅ°pZzgZnZlxVßVÆ‚BsX 2X

II. Short notes :         (10 < 5 = 50)

1. Define Tamsiel. Write conditions.

šÅ°p<Zn0*ñYäÆnXqzV»ƒ** 1X

¢zg~ì?

2. Write Quwath - e - Gaziya khath madgar Quwathow. Explain kam, name.

¸]¸itÆ}.zģÂVÆ**xZzg»x6,,sX 2X

3. Explain Hawase - Khamsa - Bathina.

jZkK!*…0îE6,,sX 3X
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4. Define Qaziya Hamliya. Write types.

M9)Ò0îGÅ°p<ZmX9÷sX 4X

5. Define Mushakel kisi cheez ke liye haiz tabie maloom kijiye.

ÂÅ°p<XËqÆnŠz¬8ƒMh÷H 5X

¥x<X

6. Define Harkath - vo - sukoon and explain.

w•�zjyÅ°p<Zzg,sX 6X

7. Explain about Daer - e - Maadon Nahar.

ŠZ],{nZ`g6,,sX 7X

8. Write note on Khate - Sarathan.

âu¤yÅ°pz,sX 8X

9. Define Istheqra and explain its types with examples.

S̀ZYÅ°p<ZzgZm©VÃVßVÐŒØX 9X

10. What is Anaser Haqiqath. Write a note on it.

ÁÜH÷Zé|6,¿â^sX 01X

III. Short answers :               (10 < 2 = 20)

fsÅqzV6,¿â^s:
1. Juzuie

:æENE„ 1X
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2. Gin's

74øELE 2X

3. Khasa

{vî O 3X

4. Mufarrad

GŠ 4X

5. Muairrf

!�ç NMs 5X

6. Aks

@ 6X

7. Thasdiq

¤& 7X

8. Zamana

iâ: 8X

9. Hikmathi - e - Naziri

7À.ïGLÃ~ 9X

10. Jism - e - Murakkab.

8gê EL%“� 01X
_______________
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[LA 1006] Sub. Code : 1006

KAMIL - E - TIB - O - JARAHAT (B.U.M.S.)

DEGREE  EXAMINATION.

First Professional Course

Paper VI _ MANTIQ - O - FALSAFA & HAIYAT

Q.P.Code : 621006

Time : Three hours          Maximum : 100 marks

I. Elaborate on :                     (2 < 15 = 30)

 : øDfs~ÐËŠzÎZÑ]Æ�Z!*]s .I

1. Define : Thasawor Thasdiq. Write examples with its types.

gz¤&Å°p<XVßVÆ‚BZm9sX ¦ 1X

2. Define Harkath-vo-Sukoon. Explain in detail and its types.

w•zjyÅ°pZzgZm©V6,,sX 2X
II. Write notes on :                 (10 < 5 = 50)

 : fsÆŠkÎÑ]Æ�Z!*]s .II

1. Define Tanaquiz and its sharaith with examples.

Ú³Å°p<XZmÑZ_Ä÷VßVÐŒ�X 1X
2. Define Makan ko hokmain reasons write.

yÅ°pÃÛYÆŠÑbÆ‚BsX k 2X
3. Define Mufarrad-vo-murakkab and examples.

GŠz%“Å°p<ZzgVBsX 3X
4. Quziya madoola's types and write examples.

Mnz!Å9ZzgZéVBsX 4X
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5. Explain about óHawase-Khamsa SaheraL.

jZkKªCÙ{6,,sX 5X
6. Inqelab-e-Inaser Explain.

Zz[ÁÜÅHßg'÷’k,<X 6X

7. Khate Isthewa. Write explain.

8ûELZ2ZY6,,ÐsX 7X

8. Define Khate Jaddi about explain.

â].~Å°pz,‘X 8X

9. Define Kheyas and write examples.

ªkÅ°p<ZzgVwÐŒ�X 9X
10. What is Mizaj and write down their types?

'×Z`¾Ãë÷ZzgZm©V6,,sX 01X

III. Short answers :                           (10 < 2 = 20)

  : fsÅqzV6,¿â^s .III

1. Airzi aim

²̧¬x 1X
2. Qeziya Mhasora

M̧g{ 2X
3. Jumlai Asmiya-vo-jumlai khabriya

]Z)z]̧t 3X
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4. Gin's

½ 4X
5. Motawatiya

áZï 5X
6. Haiz

¬ 6X
7. Harkath-e-sathi

w•fZC 7X
8. Maarifa

!�ç NOs 8X
9. Madiniyat

n*] 9X
10. Hekmat-vo-falsafa

Õz, 01X

________________
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[LC 1006] Sub. Code : 1006

B.U.M.S. DEGREE  EXAMINATION.

First Professional Course

Paper VI _ MANTIQ - O - FALSAFA AND HAIYAT

(New Scheme)

Q.P.Code : 621006

Time : Three hours          Maximum : 100 marks

PART A

I. Answer any TWO of the following :            (2 < 15 = 30)

ŠÑªZzgZnZlxÅ°p™DƒñVBŠ£X'×h+t 1X
eNāz{Ã́ŠÑªìTÐCÙ{mz¬xÃÃG{ƒ@*ìX

DyÅ°pÔ¾nz¸áÒy™,2¦gZzg¤&Å 2X
!*±g”wz!*±gF,KMZlxZzgVB’k,™,X

ÃyzYŠÆ|xÃzZã™,2z�Š»&45é JGE]ÆnÃyzYŠ 3X
»Âx¢zg~ìŠÑbÐU*"$™,X

PART B

II. Answer all TEN of the following :                 (10 < 5 = 50)

M9)Ò0î EGÅñçqÆZ±gÐX9÷’k,™,X 1X

zŠ?Å°pZzgZkÆZlxÅÜZs#™,X u 2X
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®ÐöOfZCÅ°pZzgZkÆZlxeØX 3X

ŠzèVÆŠgxyX§bÅÚ0*ðYCìsX 4X

Ú³Å°pZzgZkÆÑZ_’k,�ÛâNX 5X

jZk!*…0îEÄƒD÷ÜZšsX 6X

Š*ÅÍÑð~âu¤yÅ¶K0+„<ZzgZk»'×Z`eNX 7X

´²èÅ°pZzgZkÆZlx’k,<X 8X

MÑºÅ°pZzgZkÆZlxeZVw’k,<X 9X

'×Z`£ë÷,Ð−™,X 01X
PART C

III. Answer all TWENTY (20) of the following :         (20 < 1 = 20)

*YWg-Eg;Ôzp-Eg;ìX 1X

MÑº (b) M
\B{0î
IE

G (a)

MZ¶K× (d) M…3š0î EG (c)
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e0+Îg`ÐgzÝqÝ™@*ìX 2X

¦gÃ~ (b) ¦g$+¸ (a)

¤&$+¸ (d) ¤&Ã~ (c)

‘ÐêLy»ñçq 3X

â].~ (b) ¦gz¤& (a)

M (d) |x (c)

jZmªCÙ{Å9 4X

eg÷ (b) &÷ (a)

‚]÷ (d) 0*õ÷ (c)

Z+´�ZLZ�ÛZŠÐ{g`ƒ 5X

âq (b) ½ (a)

´fZC (d) ´²è (c)

Z+´�ZLZ�ÛZŠÅ|~ŠZ4ƒX 6X

´fZC (b) ´²è (a)

²n¬x (d) {ā (c)
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Šz)2(»°Š¤tìc*ñ 7X

MZ¶K× (b) M9)Ò0îG (a)

M!3©}Ïî EE
(d) M| (c)

³Zy**êX 8X

gÌ**³ (b) Ì@*x g (a)

u**³ (d) u@*x (c)

øg}»ÒÆ6,±è÷ 9X

| (b) ¤& (a)

Wi (d) ¦g (c)

Z(¸w)ì6,Fc*ÑLƒä»¬7Îc*Yn 01X

½ (b) âq (a)

Z¶K× (d) ` (c)

Z,Zñg»Y'TÐË¿ÅfZCZ&b°Šƒ 11X

�d$2w (b) �d$ZÜt (a)

D+Û2w (d) („æy (c)
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8ø Lœu¾Ånì? 21X

jZk!*…0îE (b) jZkªCÙ{ (a)

¸]ìw (d) ¸]qƒ (c)

¸]¸ftÄ¸ò6,Œì? 31X

eģò6, (b) &¸ò6, (a)

‚]̧ò6, (d) 0*õ¸ò6, (c)

Z‡@Ä÷? 41X

eg (b) & (a)

‚] (d) 0*õ (c)

Ã́iegc*'ƒCì? 51X

i• (b) iŠx (a)

i#ŠZY (d) iÎŠZ (c)

|]WŠxðÑ÷ 61X

M…3š0î EG (b) MÑº (a)

M9)Ò0îG (d) MZ¶K× (c)

5 [LC 1006]

FEBRUARY 2013



ŒÛWyˆ|]·å6,**iwƒZX 71X

¦gÃ~ (b) ¦g$+¸ (a)

cs (d) M (c)

WvÅŠÑªŠð,6, 81X

ŠÑªŠ (b) ŠÑªzs (a)

ŠÑªA (d) ŠÑªZoZò (c)

³Zy**êZzgZK̈y~Ã́Úì? 91X

ÀxSmðzz (b) ÀxSmÇ (a)

nM (d) ™Kz~ (c)

Îg`†ÇÂŠyƒÇÃ̈KMì? 02X

M| (b) MÑº!3©}Ïî EE
(a)

MZ¶K× (d) M9)Ò0îG (c)

________________
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[LD 1006] Sub. Code : 1006

B.U.M.S. DEGREE  EXAMINATION _ AUGUST 2013

First Professional Course

Paper VI _ MANTIQ - O - FALSAFA AND HAIYAT

(New Scheme)

Q.P.Code : 621006

Time : Three hours          Maximum : 100 marks

PART A

I. Answer any TWO of the following :            (2 < 15 = 30)

DyzD,Å°p™DƒñDyzD,Æ¯ZZ+ 1X

×Òy™,X

^]ZzguÅ°d]eZlxzeZVwsX 2X

MÅ-c™äÆˆZkÆZlx»E+™{VßVÆ 3X

‚BsX
PART B

II. Answer all TEN (10) of the following :                 (10 < 5 = 50)

ZÌÅ°pZzgZnZlxeVB’k,�ÛâNX 1X

]KH÷°d]Æ‚BKX à 2X

LE
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MÅ°pZzgZkÆZlxKX 3X

Ú³Å°pZzgZnÑZ_eØX 4X

ŠÑª_$§öE
G

ZzgŠÑª
$|.-

ö
GEE

Å°d]eVwsX 5X

ŠÑªÅ©‹0î
EE

GÅ9e°d]zZ?’k,™,X 6X

ñçqZzgúwÅ°p<X 7X

Dy»D¥ÐmHì’k,™,X 8X

ÁÜÐH%ZŠìZzgZyÆ8£â]eØX 9X

ªkÅ°pZzgZkÆZlx’k,<X 01X
PART C

III. Answer all TEN (10) of the following :         (10 < 2 = 20)

ßg]ªkÅ9X 1X

¸]‘†Å°pX 2X

ÕÃ~Å°pX 3X
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¤&Å°pX 4X

w•Å°pX 5X

|zWiÅ°pX 6X

�d$2wÅ°pX 7X

`Å°pX 8X

´Å°pX 9X

yzYŠÅ°pX Ã 01X

________________
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